Owdwjuptpp-twpiwhwohy

«Gpliwmtth 9.Quuhljuth wudwu phy 90 hhdtwlwt nupng» MNUY-h
pnibtnh b gqpunuputh yepuljunnignid

Qwithh Uhwynph | CanhwGnip
h/h W2luwwinwbplbtph wajwlnudp LPwlwy| pln.wnpd |wnpdbpp hwg.
dhwynp
hwqg.npwd npw
1 2 3 4 5 6
Lutinplwt wpjawwmnwbipbn
1 |Qwjnk nnutph pwinmd u? 75.15 1.89 142.16
2 [Duynk dhounpdutph pwinnid u? 15.87 0.66 10.51
3 |Mwwnbtph queh ujwunh pwunnid U2 44.38 1.24 55.20
4 |Unwunwnubtph quoh ujunh puwtnnid U2 29.63 1.63 48.19
5 |wwntphg, wowununbliphg hht biphh @? | 35458| 045 158.31
dwppnid
6 Qbtnnigdwut hwdwljupgh wywuntinnwdnid b dwpwn 200 155 3.10
Untilnwudnid ing
7 Chuwnph pupdnid b nknuthnpnd 124d w 4.00 434 1737
htn.Jpu
Uheunputikp
1 Uhgounpdubtph hpwlwbwgnid whdqupnlubpny P 0.242 39.66 960
100mm
5 Uhgounpdubtph hpwlwbwgnid yhdqupnlutpny 2 19.500 30.54 595.50
200mm
3 |Udpwbwynpnid @10 A500c n 0.093 | 563.87 52.33
4 |Udpwbwynpnid @6 Ac n 0.033 [ 566.34 18.87
G/ptuinutk pupwynph b vhonijukph
S hpuljutagnud B15 phinnting 5 0.40 116.86 46.75
6 |[Udpwb ®12 A500c n 0.048 | 461.67 22.01
7 |Udpwt @6 Ac n 0.0164 | 471.57 7.71
Pugjubputp
1 Utunwnuuyjuuwnt gnin 60U 4+4dd uuyjhunnuly 2 20.21 4795 954.89
wyuthupbpny
5 Utunwnuuyjuunt yuwnnthwt 60Ud 4+4dd 2 198 36.42 46.62

uy hinwl) pugynn




1 2 3 4 5 6

3 Utunwnuuyjuunt yuwnnthwt 60Ud 4+4dd 2 9.92 24.94 047 37
uyhwul spuignn

4  |Mwunnithwiwgngbph mbknunpnud 92 2.71 3.09 8.37

5 [NMwwnnithwiwgngtp 300dd hwuwn. qou 9.04 4.71 42.54

Zunnupdw wpjuwnwputp

1 [NMwwnbtph quoh ujunh hpuljubwugnid u? 138.79 3.20 444.62

2 [NMwunkph queh ujunh Jepuunpngnid u? 44.38 3.53 156.54

3 |Unwuwnunutph quoh ujwunh yipwunpngnid u? 29.63 4.18 123.84

4 |Chwytph pupapnpuly queh ujunh hpwhwiwgnid | 2 11.82 7.59 89.66
NMuunbtph b obwybph pupynpny ubplynid 2

5 [unbpught tkplny u 307.67 1.70 523.46
Unwunwnutph  pupynpuly tkplnid 2

6 [unbpught thplny u 197.52 1.90 375.82

Zunwljutp

Ludhtwnk 8Ud hwuwn. hunwljutph 2

1 hpurljurtiugnid wwniiqny ophoulyng u 35.80 7.62 272.71

Pmdtnh onuhnjunipini
Uugptph pugnid @100 hwwn 1.00 1.63 1.63
Shujuuyuwwn junnnyjul @100 u? 0.8 24.25 19.40
Shujuuywwn junnnyul @100 qou 2 33.85 67.71
Qjuwunhp hwwn 1 23.62 23.62
Upuniwphtt hwpyupdwi wohiwwnwiptbp
1 [Upunwpht »bwybkph ujun glwduqb sunujuny u? 2.24 2.69 6.03
El. Lntuuwnpnipjnih

1 |49 hunnppuyuph dntnwdmd 3x6 G4 a 55 2.85 156.65

2 [J4499 hunnpyuiuph Unbnwdnid 2*4 G062 a 125.0 1.05 131.15

3 [d9Q hwnnpyupuph dntinwdnid 2*2.5 06° N 245.0 0.87 212.06




1 2 3 4 5 6
4 (499 hunnpuuph dntnwdnud 2*1.5 G062 a 150.0 0.77 116.06
5 [Udundwun wigwwnhs (kpwpltn) C63 U 10KA | hwwn 1 12.50 12.50
6 |Udundwn wbhpwwnhy (kpypltn) C 25 U 6KA hwn 1 5.81 5.81
7 |Uduuindwwn wupwwnhs (Epyphtn) C 16 U 6KA hwwn 2 5.81 11.62
8 [Udundwwn wigwwnhs (kphpltn) C 10 U 6KA hwwn 1 5.81 5.81
9 |dwpnuy hnnuiguwh huulnyg kpplite 16U 2304 huwn | 18.00 2.46 44.19
10 ;Zﬁi%niufgtm;;ﬂq thurl byt huw | 7.00 2.74 19.15
11 E}Eﬂﬁgﬁﬁh;%bh uwnntbbph hun | 38 | 11.44 434.66
12 |Uwulfun qsu 20.00 0.64 12.88
13 |Ulnuh thopnud gdd | 700.0 0.51 354.93
14 |Ulnup thwlnid u? 42.00 1.99 83.62
COnwdklp 6193.52
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